EHE N X IZHE T 5






Rk 28 AR

NPT — S EEI T 5 E
X o7 o i)
+H
7 A & 5B 103, 627, 419
7 H & ) 100, 502, 529
7 A % H 7= 5l % 3, 124, 890
(1) ko B IR AR 66, 552
(2) HeEN B T i RE 507, 153
. B AN
B9~ X R
(3) HE il U iiiga 0
7 573, 705
. E = I 53 | 2,551, 185
CEEHE N X E O L M F BRIk
¥ 2 3 3% m 2 0HEICESD 0
e & p A %

454






R 28 4EAE
J\FTH E R R RS E BB I T 2R E

IZ LN (ﬁ %E
+H
. A b3 | 28, 753, 835
. H Y | 28, 635, 724
7 A % H 7= 5l % 118, 111
(1) ko B IR AR 0
(2) HeEN B T i RE 2,570
. BUERE AR
g~ = R
(3) S ioidial L gpillia 0
7 2,570
= = Iz 53 ) 115, 541
CE BN ZBE DO SO L M B R B
¥ 2 3 3% m 2 0HEICESD 0
F 4 p A %

456






ER% 28 4EBE
J\FET G HIGE T\ A AT SRR &S5 8 NI 2R E

X 4y & %
+H
1. m% A b | 334, 689
2. % H e % 316, 483
3. % A % H 7= 5l % 18, 206
(1) ko B IR AR 0
(2) HeEN B T i RE 0
4. BEREE~ERY
g~ = R
(3) HE il U iiiga 0
7 0
5. % = 1 53 | 18, 206
6. E BN XE DO S L H F A B IE
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

458






Rk 28 AR

JUF AR T A X R SR AR S R R E ISR =

X gal 4 %A
+H
1. % A b | 1, 657, 566
2. % H fa | 1, 553, 816
3. % A % H 7= 5l %E 103, 750
(1) ko B IR AR 0
(2) HeEN B T i RE 95, 538
4. BEREE~ERY
g~ = R
(3) S ioidial L gpillia 0
7 95, 538
5. & = I 53 | 8,212
6. E BN XE DO S L H F A B IE
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

460






R 28 4EAE

INF TR BRS8NI T 550 E
X gal 4 %A
+H
. A b | 4, 980, 604
. H fa | 4,906, 301
% A % H 7= 5l %E 74, 303
(1) ko B IR AR 0
(2) HeEN B T i RE 17, 280
. BUERE AR
g~ = R
(3) HE il U iiiga 0
7 17, 280
= = Iz 53 ) 57,023
CE BN ZBE DO SO L M B R B
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

462







SRR 28 AR
J\F AR T T B /K E F RS EE N T 2 E

X 4y & %
TH
1. % A S %H 11, 354, 979
2. & H fa %8 11,233, 247
3. & A % H 7= 5 %E 121,732
(1) ke B 2 U ek AE 65
(2) HeiBl B 5 & v AR 20, 371
4. FUEFEA~RED
X R
(3) Sl | iR 30
7 20, 466
5. & = I 53 %H 101, 266
6. FBFE I XHE D S5 L M F A IEIE
¥ 2 3 3 %0 20 MEICLE A 0
Sl & i A |

464






YRR 28 AR
J\P TS A U BUS S 264 R S 5 328 I S I B3 5 i &

|}

Tl

IZ LN (ﬁ %E
+H
1. m% A b | 0
2. % H e %A 0
3. % A % H 7= 51 % 0
(1) ko B IR AR 0
(2) HeEN B T i RE 0
4. BEREE~ERY
g~ = R
(3) HE il U iiiga 0
7 0
5. % = 1 53 | 0
6. E BN XE DO S L H F A B IE
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

466






¥

Rk 28 AR

JUR TR TR BB B Al 2 R SR E NG B S &

X o7 o i)
+H
1. % A f % 228, 741
2. W% H i %A 219, 571
3. % A % H 7= 5l %E 9,170
(1) fifoe B B VR ek AR 0
(2) HeEN B T i RE 56
4. BEREE~ERY
B9~ X R
(3) HE il U iiiga 0
7 56
5. F& = I 53 | 9,114
6. EE N XHE D H b H FHF A B E
¥ 2 3 3% m 2 0HEICESD 0
e & p A %

468






Rk 28 AR
JNF T R ENFE S A B 2 B N I B 2 A E

X 4y & %
+H
7 A e % 323, 769
7 H e % 318, 861
7 A % H 7= 5l % 4,908
(1) kAot 2 Vi RE 0
(2) HeEN B T i RE 0
. B AN
B9~ X R
(3) HE il U iiiga 0
7 0
= = Iz 53 ) 4,908
CEEHE N X E O L M F BRIk
¥ 2 3 3% m 2 0HEICESD 0
di & p A %

470






Rk 28 AR

NFEHEER S EECUCET 2HF

X gal 4 %A
+H
. A b | 45,676
. H fa | 42,752
% A % H 7= 5l %E 2,924
(1) ko B IR AR 0
(2) HeEN B T i RE 0
. BUERE AR
g~ = R
(3) S ioidial L gpillia 0
7 0
. E = I 53 | 2,924
CE BN ZBE DO SO L M B R B
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

472







SRR 28 AR

INF T EEE YK FER S EEICEICET 550 E
X o7 o i)
+H
1. % A f % 329, 792
2. W% H i %A 321, 029
3. % A % H 7= 5l %E 8, 763
(1) fifoe B B VR ek AR 0
(2) HeEN B T i RE 0
4. BEREE~ERY
B9~ X R
(3) HE il U iiiga 0
7 0
5. & = I 53 | 8, 763
6. EE N XHE D H b H FHF A B E
¥ 2 3 3% m 2 0HEICESD 0
e & p A %

474






R 28 4EAE

JUF ST PR BRI = R RIS B 2 &

X ool & %A
+H
. A b | 20, 561, 560
. H fa | 19, 935, 927
% A % H 7= 5l FH 625, 633
(1) e By 2l U Heeii AR 0
(2) HeEN B T i RE 0
. BUERE AR
g~ = R
(3) S ioidial L gpillia 0
7 0
. E = I 53 | 625, 633
CE BN ZBE DO SO L M B R B
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

476






Rk 28 AR
J\F T E R AR R AR 2 R T R 2 5 BN T B 2 5 =

X 4y & %
+H
1. m% A b | 181, 643
2. % H e % 163, 864
3. % A % H 7= 5l % 17,779
(1) ko B IR AR 0
(2) HeEN B T i RE 0
4. BEREE~ERY
g~ = R
(3) HE il U iiiga 0
7 0
5. % = 1 53 | 17,779
6. E BN XE DO S L H F A B IE
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

478






¥

Rk 28 AR

J\F TR B i E R AT = R SR E NG B S &

X 4y & %
+H
1. & A e 5B 2,224, 814
2. % H e ) 2,173, 553
3. % A % H 7= 5l %E 51, 261
(1) kAot 2 Vi RE 0
(2) HeEN B T i RE 0
4. BEREE~ERY
B9~ X R
(3) HE il U iiiga 0
7 0
5. % = 1 53 | 51, 261
6. EE N XHE D H b H FHF A B E
¥ 2 3 3% m 2 0HEICESD 0
di & p A %

480






Rk 28 AR
NFHRFR - EIFEAE &M FERR S5 ZEINZICET 2 0E

X 4y & %
+H
1. m% A b | 20, 453
2. I H fa | 13, 828
3. % A % H 7= 5l % 6, 625
(1) ko B IR AR 0
(2) HeEN B T i RE 0
4. BEREE~ERY
g~ = R
(3) HE il U iiiga 0
7 0
5. % = I 53 | 6, 625
6. E BN XE DO S L H F A B IE
¥ 2 3 3% m 2 0HEICESD 0
e 4 p A %

482






